


A sofa set is available for Rs 48,500
cash or for Rs 10,500 cash down

payment followed by three equal

1 monthly installments. If the rate of
330\‘0(' +.&‘;3_ interest charged under installment
| @ X]& plan is 16% p.a., then what is the

monthly payment, interest being

::BL.'. % 3’& simple?

(% | U |I%l 9 48,500 % IHa AT 10,500
38v0 s T AHE SO W B 9] O HH
t 1520 aRre fewdt 4 Svem ¥ AR R
39520 :1%’_9 D"S ?‘GI;T$HEHW3?[T\’ 16% ¥fd a9
, O ARSI T B, AT HERT

%-:-3‘1@0*25;‘1 22

¥ o1 (a) Rs. 13,400  (c) Rs. 13,200
LT Rs. 13,000 (d) Rs. 13,500



In a race, Anil beats Bhushan by 30
seconds. In the same rae, Bhushan
beats Raghav by 60 seconds.
Bhushan’s speed is the average
speed of Anil and Raghav. The time
(in seconds) taken by Anil to run the

race is:

U% e ¥ AN ¥ g9 ' 30 VFS W
ENT| 34 ¥ A ¥ | YEd P 60
qde ¥ AT Y @ T A AR
Eq H 3Ed T 2| I gRT SIS B
W & A form ™ v (@ds H)
féreT &7

(a) 75 DEL

Uey90 (d) 60



If the 9-digit number 9386x378y is
divisible by 72, then what is the

ty >
X’ -y’
Ife 9 Il P HET 9386x378y, 72 |

%a‘rx y BT A T 87

(a) 17/8 () 13/5 @

(c) 41/9 (d) 61/11

value of




PT is a tangent at point C on a circle
with centre O and AB is a diameter.
When BA is produced, it meets PT at

point P. If Z/ZBPC= 34°, then what is
the measure of ZACP?

PT, O &% dldd 9¢ W fdg ¢ W 1o W
NGl 8, 3R AB &9 2| 94 BA &I 3
91T T 8, 99 98 PT ¥ fig P W

fierar 81 afe /BPC= 34° 8, 9 ZACP
@ 919 7 27

(a) 26° Uby28°

(c) 32° (d) 29°



Study the given pie chart and answer
the question that follows.

Breakup (degree-wise) of the total
number of employees of a company
working in departments A, B, C, D

and E
Number of employees in office E =
. 704
1 The ratio of male and female
c ey f employees in office D is 9 : 7 and in
- ¢y 3%x 1 office C, it is 4 : 5. The total female
) —_— employees in offices D and C is what

percentage of the total number of
(1\| employees in offices A and B?
(Correct to one decimal place)



fRg T Ui A &1 FWIT PN SR
frfeRed we &1 SR < |

f&rT A, B, C, D 3R E H SRRd HU
D PHAMRGI P Hod G B fAawor
(fS-ar)

S E § HHAIRG! DI G&AT = 704
S D H YooY 3R AfRdr HHaRAl &
FUT9: 78 IR PAGACHIT 4: 5
g dAd D R C H Fa AR

7 ' ), sfaa A R B ¥ HHaRAl 3
U G qE &1 fba wfiea 87 (Sumerd
/‘11 P TP W a® o))

Liaf 38.6% (b) 35.8%

(c) 36.2% (d) 37.2%



H©) 34.4%

Seema sells 40% of her goods at a
profit of 25%, and 20% of the
remaining goods at a loss of 35% and

25% of the remaining goods at a
profit of 15%. In order to get 20%

profit in the entire transaction, she
must sell the remaining goods at a
profit of (correct to one decimal
place):

4, 3 40% WHM DI 25% @ A
R, 3R A9 GHF S 20% P 35% @I
BN W, 3R AY 9HH D 25% D 15%
® AN R 9 8| R A9 H 20%
A U R b fog, SH A WA B
fras ufderg o™ w® S99T BF? (U

TIHAT RF OP S PN
(a) 32.8% (b) 36.4%
(d) 35.2%



The amount received on a sum
invested at 8% p.a. simple interest

1
for 35 year exceeds the simple

interest on the same sum at the
same rate 15 years by Rs. 600. What
will be the amount (in Rs) of the

same sum in 5%— year at double the

same rate at simple interest?
8% WAy HRRYT &ATS &I &% A 3%3@

o fou o &Y U gaoa w® ua
Ases S f¥r R 15 99 &) fow 99
¥ ¥ R &7 9 600 TUY IAWH
2| HERY &6 )R 999 &% 9 S )

(a) 14,080 (b) 13,800 ur 5% qy ¥ 9 ¥ &1 f{sem (o
() 14,000  \Ud 14,100 3) morr gyayy?



EVRS
(c) 4

(b) 8

A tank is attached to 16 pipes, some
of them are filling pipes and the
remaining are emptying pipes. Each
of the filling pipes can fill a tank in 8
hours and each of the emptying
pipes can empty a full tank in 10
hours. When the tank is 65% empty,
all the pipes are opened at the same
time. It takes one hour to fill the

tank completely. How many pipes
are emptying pipes?

UH S Bl 16 UISUl | SIIeT T 8, SH
H $B URY WA 1 8 AR AY @rell
HYH qlol UISY B | AP XA qTAT UISy

Uh Sp d 8 He ¥ WX Haal g 3R
TP Glell B qrell 915y U [X: 7
P 10 S ¥ Goll HX Pl & | o9 b
65% WWIell BlaT & dF 94 UIsy 99
Y W Gl §d 8| ¢p B G a8
™ H T P GG e 8| fhan



An amount of Rs. 1,450 was given as
a loan at the beginning of the year at
a certain percentage per annum.
After 8 months, another amount of
Rs 725 was given as loan but this
time the rate was double than
before. At the end of the year, Rs. 67
was received as interest from both
the loans. What was the original
interest rate?

vep fAf¥=a ufdwa affe 9 ) W
1,450 BUY &I GV 9§ D URH H 0T

d BT H q T3 8| 8 HIE UTEId 725
maﬁmmmiﬁmﬁzﬁﬁ
2 $H SR X Ud &I IUET IR
oY |

a%sta# aﬁrazvﬁﬁma’i

3=|£r q ﬁ»'a'-ﬁ efr.
(a) 5.47% (b) 13.47% @

(c) 8.47% \96.47%



A B
2x (9 w
wax (1]

A B C
<% 31

C

)

2 %20

1\ (a) Rs
:2.2‘9 303vo (b) Rs

IF— Lntatg S

(d) Rs

. 2,04,000
. 1,87,000
. 2,38,000
. 1,70,00

A and B started a business with their
capitals in the ratio 9 : 13,
respectively. They agreed to share
the profit in the ratio of their
investments. C joins the business
with the condition that A, B and C
will share the profit equally. C pays a
sum of Rs. 3,08,000 as a premium
for goodwill. What will be the share
of B in this premium?

AJR BAPAT 9 : 13 P UM H
3T Yoll & | U AqEd IO |
d O 9w & SuTa H ™ |IEm YA
o forg wEwd g1 € 39 WA D W
R 4 WA 81 8 f& A, B 3R C
A ©Y W AT 9IS N | C HSHIEAT
o forg Mifaw @ w9 # 3,08,000 ©. @

IR ST YA &Rl 2| 39 WNAg9 4 B
&1 fewar fdam srm?



The radius of a sphere is r cm and

the height of a cylinder inscribed in
the sphere is 1.2r. What is the ratio
of the volume of the cylinder to the

volume of the sphere?

TS Mol @ B ¢ 9 8 &R Ml o
Jafifed 9o @ Ha1g 1.2r 8| @ 979
$3;ma=rmrna$amaﬁ'ﬁagtrra
T 57

\yﬁz : 125 (b) 27 : 50

(c)5:6 @(d) 16 : 25




@ (a) 23% minutes
(/(b){tl- minutes

(c) 24% minutes

(d) 21 minutes

The distance covered by A in 10
hours is 27 km less than the

distance covered by B in 12 hours.
The distance covered by B in 8 hours

|
is 75 km more than the distance

covered by A in 9 hours. If they start
moving towards each other from the
two ends of a road, 4.2 km in length,
at the same time, they will cross

each other after:

A §RT 10 8¢ # T9 @ g ¢, B §NT
12 8¢ H @9 & T8 g0 9 27 &0 a9
21 BERT 8 €S § 07 &I TS X, A §RI

oW ¥ qg H T @ W 7%&-@
s 8| AR 3 4.2 Rl i P B



A car is available for Rs. 4,98,200
cash or Rs. 60,000 cash down

b D payment followed by three equal
952__ 24 annual instalments. If the rate of
y B int t harged i 16% ey
aﬁ }(Q‘S 22 X 7"? crcl):l:)e:und:d a;e:rly, 1!t;hen the tl:>taal
Rq"‘ ;(525 Qﬂt‘ Qﬁq—- interest charged in the instalment
plan is:
29( 3‘1“—4-2{1'62.() <4389x3 T$ BR 4,98,200 W THE AT 60,000
P qHe ARH YA P € dF GHH
2 X9] qiffe fredt W Suerer &1 Ik affs wu
+3)
4 F q HAIfTa & @ X 16% AfT 9§ B

Vgihxq mmﬁmwaﬁm
33 S“.1:"?{:9‘13!‘)‘( a) Rs. 1,46,314 @

'Z 3‘12~9 (b) Rs. 1,46,137
Mﬁg (syRs. 1,47,136

(d) Rs. 1,45,163



A speaks the truth 5 out of 7 times

and B speaks truth 8 out of 9 times.
What is the probability that they

contradict each other in stating the
same fact?

A7HA5 IR GA AT e IRB 9 H
9 8 R 99 Siodl & | $HPI T Wi
2 5 3 1o & 727 TO g TH—gW BT
G PY?

(a)

1
7
1
(c) a



The angle of elevation of the top a
tower from the top of a building
whose height is 680 m is 45° and the
angle of elevation of the top of same
tower from the foot of the same
building is 60°. What is the height (in
m) of the tower?

U R, 9@ 915 680 HieX 8, &
Y | SR & MY &1 S=IT DI 45°
2 3R S SHRT @ IR § S SR &
MY ST SHIT BT 60° B| TEAR B

G\;?'Ii (in m) 9T 87

340(3+J§) @
(b) 310(3 - J§)
)
)



The median of a set of 11 distinct
observations is 73.2. If each of the

largest five observations of the set is
increased by 3, then the median of
the new set:

11 33T JTAP-I P HE P ARy
732 8| IR U & WEW TS UE
FqAIDl H W UAD H 3 B gfag B Sl
8, o FI¥ AT BT 9T T 87

@ (a) is 3 times that of the original set
(b) is increased by 3

\~AefTfemains the same as that of the
original set

(d) is decreased by 3



A tank has n pipes attached to it,
out of which 2 are outlet pipes and
the rest are inlet pipes. Each inlet
pipe can fill a tank in 10 hours and
each outlet pipe can empty the full
tank in 15 hours. When all the pipes

2
are opened together then 915% part

of the tank is filled in 2% hours.

What is the value of n?

TUh P A n UIST o7 8 oFH 9 2
/g ugy € SR 9@ udwr usy g
mmmw%aﬁmwﬁm
HohdT & 3R TS e usy R 6 Bl
15 B¢ ¥ W@lell & Ghdl & o9 9

syl B UH G Wi f3Ir ST & o
émmm%%qmzétiéﬁmm

2| n BT HH T 87

(a) 9 @ (b) 8
u/7 (d) 6



In AABC, /Ais the largest angle and

/B is the smallest angle. If the
largest angle is twice the smallest
angle and the length of the sides of
the triangle are consecutive positive
integers, then find the length of the
largest side (in units).

AABC ¥, /A a9 91 DI 8 3R /B
e Bl DU 8| I FEH g1 BT
HEH BIC DIV & SHAT 8 3R Byt ot
YOI B A8 HAN TS PN B,



Let x = 1.05+0.95x 0409 and y =
(0.75+0.226) x (5.09+ 1.7), then
the value fo xy is:

7 O x = 1.05+ 0.95 x 0.409 3R
y = (0.75+0.226) x (5.09+ 1.7),a
xy @I HI1 g

) 0.45  (bY4.5 @
(c) 0.54 (d) 5.4



The base of a right pyramid is a
square, whose diagonal is 20 cm. The
height of the pyramid is 20 cm. The
lateral surface area of the pyramid

is:

TS GBIV RIS &7 IR e o 2,
foaer fagot 20 99 21 fvifie &
ag 20 ¥ 7| Awifie @1 o gy
&% fdar 87

(a) 450 cm? (b) 720 cm?2

(c) 500 cm?2 }aj 600 cm?

®



Co

In AABC, Z/A=90°, AB = 6 cm, AC =
8 cm. A square DEFG is drawn inside
the triangle with side FG along BC, E
and D on sides AB and AC,
respectively. What is the length of
the side of the square (in cm)?

AABC ¥ /A= 90°, AB = 6 94l, AC =
8 Wil 8| Ba @ X U& I DEFG
drar orar @, forgat 49 FG, BC, E
3R D T HAT: AB 3R AC W &
T P qo B warg (@QF H) T 8?

= WKW (a) 24/7 (b) 40/9 @

g
3%

(c) 24/5 \}9r120/37



Find the median from the following
data.

il -c Rt et & AT T17 B
- F)xﬁ, Jrasie

51{7)
:e— X(D V(a)cé 12 3(%)@0’ 10 U 4o
)
:L(r“’ 2553 (c) 51 (d) 57
MU <3¢




If a, Bare the roots of the quadratic

equation 2x2 - 3x - 35 = 0, then the
value of a’ +p°is:

e a, B fEETT THIHROT 2x2 - 3x - 35 =
0% A & @ a®+p° M &

(a) 957/8 (b) 857/8

(c) 757/8 vwﬁws

®



What is the nature of the roots of 3x2

+6x-5=07
b-: 3x2 + 6x - 5 = 0 B Sl B FHRI
g?

36419 3)

Xa) There are no real roots.

D ;f(.é 70 (b) The roots are real and equal.
he roots are real and distinct.
Yeol T

d) The roots are real and more than

2 @



2M=9 W

\Uw-9
lIw S R‘G

S5 men and 6 women can do a piece
of Workin 6 days while 3 men and 5
women can do the same wWorkim9

days. In how many days can 3 men
and 2 women do the same work?

5 709 3R 6 Afeay 6 fa=if § & o1
T X WHd & o§id 3 o9 3R 5
qft?awwmaﬁ o f&ai # @ W

THd 8| 3 IOY AR 2 #ARAN S e
aﬁﬁﬁ#ﬁa‘rﬁwaﬂm%‘?

@ Vur)’ll— days (b) 13— days

(c) 10— days (d) 12ﬁ days



14 years ago, the age of a father was
three times the age of his son. Now,
the father is twice as old as his son.
What is the sum of the present ages
of the father and the son?

14 9§ U5l P fUar 9 9% IS9P 9 N
99 W @ A1 | o, T @S9 o
9 | T 71 e 6k g3 @ adaE
AT BT ANT T &7

M4 years (b) 56 years

(c) 42 years (d) 98 years



Express 0.5323 in the form p/q,
where p and q are integers and q # 0.

p/q ® ®Y ¥ 0.5323 XD PN, W@l p

IR q QIi® & q#0 B
) 5328 ) 2661
S313 9990 4990
2659 5333
1970 4995 9 5900

©



Three numbers are co-prime to one

another and the product of the first
two and the last two are 432 and
945, respectively. Find the LCM _of

the three numbers.

oY &Y U qEN B HE—mTed B SR
T8l A SR oW A BT PEGA HAT
432 3R 945 7| A9 WEARI H1 AYTH

THIYIY ST P |
X (a) 14850 (b) 150300(

/X () 16650 (d) 15120 @
RX4y

>Y



In the given figure, AB || QP, AB = x,
PQ=x+10,RB=x/2and BP=x + 1.
Find PQ

feu v I &, AB || QP, AB = x, PQ =

NHo x + 10, RB = x/2 3R BP =
2 (%*V} x+1%ﬂ’rP%§ﬂHm§’I

342 = NHO A 7nr\o "o
20 = A UJJ“‘
Ly
p\ ’&. B M4\

(a) 13 - -

(c) 18 units  (d) 12 units



|2 20

@
¥ 5

3/ — 33~ >
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®

2:§7-——32 o

A vendor sold 25 laptops at a profit
of 12% and 15 laptops at a profit of
20%. If he had sold all the 40 laptops
at a profit of 18%, his profit would
have increased by Rs. 30,000. What
is the cost price of each laptop, if
the cost price of all the 40 laptops is

the same?

Ue fasdpdar 7 25 AUST 12% & oM W)
3R 15 AUST 20% & o™ WX 89| I
S99 94 40 AUCT 18% & oY R 99
B4, O S9BT oM 30,000 YA 9

omar | afe |t 40 AUSU &1 ANTd Hed
A 8, 9 YAP Uiy &I aRId o

T 37
(a) Rs. 28,000

MTRs. 25,000

(c) Rs. 26,000
(d) Rs. 27,000



If one of the interior angles of a
regular polygon is 15/16 times of

one the interior angles of a regular
decagon, then find the number of

diagonals of the polygon.

I e Faffd sgq9 &1 T 3NiaR®
P T AT SIS @ TP SiaRke
PIT B 15/16 AT 8, A YA D
fagolt @t W wa |

/‘ﬂa) 20 (b) 14
R § (c) 2 (d) 35



